M = 0l &8 AF & H Al A
P01 S 204 LEHSIH, JIEFSESIH AQIZRAEXC ~ Al ZRAERC
SN AlRBERC

FH: E3E ANUSE 2 ([ ELANANL/NAL Al
Ctel: SLOF2IOtR A FS (el &

= Xz . CHO| (5 R e =) A} OH &EIE =03
NS F&E 169,400,783 161,055,783 8,345,000
= 95,830,000
Al 11,370,783
Xl 62,200,000
HE NOUZSY ZH(ZELXSINL/XNELTA) 154,854,900 144,527,540 10,327,360
Anen 'ﬂ:'—&%_ {\3”35}_5 HUﬂ_&@ YEISH =42
2 2oA elZet A=
= 90,830,000
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Xl 62,200,000
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Xl 33,200,000
401 A &HIYL 2048 104,800,000 141,486,000 236,686,000
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02 A BHUSEES 7,350,000 0 7,350,000
OtOFCIOLR Al B2 H AL 7,350,000
= 7,350,000
otOFelOt=R Xl XIE2EA 13,480,000 0 13,480,000
= 13,480,000
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SA: ARIBRAFRC
H: HE NUSE ZH(2ELXNGML/KNAL Al
S A2 B St BEXA (cte: &
_ _ PSEN=
2N -3 - c2(3H) - NEME - HES 0 Ak oH oﬁwa Hon=s2t
01 At222lH 9,900 12,540 A2,640
I=fdss 29 9,900
3o &N 8,400
3o X2 el 1,500
DRAFHI Ao FEEO WY (ZELXANL/XALT 10,001,000 14,011,000 24,010,000
Al
Huen §%$tﬂxlﬂ JIBHAIE AXI2 X2 78
9UxN
=2 5,000,000
Al 5,001,000
TS J|EAIE &= 10,001,000 14,011,000 24,010,000
AUXE 1 FHIY S2HLAY BHE
SEEE 2HEX 90 %
=2 5,000,000
Al 5,001,000
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Al 5,001,000
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FHI SN 2 HRET 1,000
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=2 5,000,000
Al 5,000,000
01 Al&H] 10,000,000 14,000,000 24,000,000
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J| =2 65,775 75,813 210,038
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SA2IEI =242 13,500
SANS2IEI| =232 11,340
202 04t 37,935 45,717 AT, 782
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ZHHESE O 25,200
2AEH0 I 12,735
203 YREZAH| 3,000 4,200 21,200
04 BA2ILRF=ZFH| 3,000 4,200 A1,200
SANSILREAY 250,000 * 128 3,000
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